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° Watch Video Solution

COS *

58.HHﬁ‘fﬂ3ﬂ?lT:/2 —dx
0 1+sin’z

o Watch Video Solution

1
SQ.HHﬁ‘f,E[W:/ ze Tdx
0

° Watch Video Solution



https://dl.doubtnut.com/l/_YfJi6UADsU8V
https://dl.doubtnut.com/l/_0dMuaVBSta1y
https://dl.doubtnut.com/l/_pLLAe3Z6qwEA
https://dl.doubtnut.com/l/_cZ2Q4bKhEO47

2
60/ \2xr — z2dx
0

o Watch Video Solution

e1+1
51,/ ﬂdw
1

T

° Watch Video Solution

1 -
GZ.Wﬁ‘fHW:/ a:3\/1 + 3ztdzx
0

° Watch Video Solution

63. /ﬁ x(zﬁ

o Watch Video Solution



https://dl.doubtnut.com/l/_a6AgAtRXdOp5
https://dl.doubtnut.com/l/_ERHXYpj2A18N
https://dl.doubtnut.com/l/_HYXX4RWDeWhs
https://dl.doubtnut.com/l/_QDvFgB2O2ylN

64. I fAdg W/ " sect zdz
0

° Watch Video Solution

65. T (AT St: / " tan® 640
0

o Watch Video Solution

ss.mﬁszrw:/Z I
0 Va?— x?

o Watch Video Solution

67.a1=rﬁ<f§ra?c?n:/ T
0

o Watch Video Solution



https://dl.doubtnut.com/l/_wT8uvmoqTEpa
https://dl.doubtnut.com/l/_SqNkxAn5Uy4j
https://dl.doubtnut.com/l/_O18Tt4bk3A54
https://dl.doubtnut.com/l/_szIShkBpsLoq

3

68. JIF fAdyg EISRIT/ ' sin? z cos® zdz
0

o Watch Video Solution

1
69_/ _dz
0 ex_i_e—.’t

o Watch Video Solution

a 1 — 22
70./ cos ! x dx
0 ].+.’E2

o Watch Video Solution

sin 'z

L
71.srmﬁcfzrm:/ v
0 (1—2?)

3
2

o Watch Video Solution



https://dl.doubtnut.com/l/_rgjGMCzngaAS
https://dl.doubtnut.com/l/_kM7NgiamtsIF
https://dl.doubtnut.com/l/_bQ81eHogmZD7
https://dl.doubtnut.com/l/_Y8h3XnxtfhIM

tan~ !z

1
72.mrrﬁ<f§raﬂm:/ 5
0 (1+£I32)§

o Watch Video Solution

1 /1
73./ —sin| — |dz
1oz x

o Watch Video Solution

74. 17 fAdfg WT/ ’ v/sin® cos® PdP
0

° Watch Video Solution

™
75. / sin® z cos® zdz
0

o Watch Video Solution



https://dl.doubtnut.com/l/_li71CZRyA1oM
https://dl.doubtnut.com/l/_7s9kObkRcZi0
https://dl.doubtnut.com/l/_gBdw4Dd6ENGt
https://dl.doubtnut.com/l/_yInvgt04iLBv

e
76. / (log :1:)2dx
1

° Watch Video Solution

?  sinzcoszdzx
77. 5
0 2cos?z + 3sin“z

° Watch Video Solution

T 1
78.5rEITEﬂT~RF(?IT:/ - dz
o 9+ 2sinz + cosx

o Watch Video Solution

Y
m [ e
o l+cosz

o Watch Video Solution



https://dl.doubtnut.com/l/_cWC2l2sbWF7R
https://dl.doubtnut.com/l/_EIy7H1ZZAdDk
https://dl.doubtnut.com/l/_RzEUsPBlBweV
https://dl.doubtnut.com/l/_NWrYCKn8fQez

2 :1:4
80./ —de
0 (44 2)

o Watch Video Solution

“ 1
81./ —  _dz

o Watch Video Solution

24 3
82. cos” z sin’ zdx
0

° Watch Video Solution

2 £L’2
8. / T
0 +/1+ 22

° Watch Video Solution



https://dl.doubtnut.com/l/_zFlOrxaPsAJT
https://dl.doubtnut.com/l/_yk0FnAbxkGtF
https://dl.doubtnut.com/l/_fXj1xnyR13d4
https://dl.doubtnut.com/l/_NbHADhuWsmQQ

1
1
84/ +$daz
0 \/ l1-z

° Watch Video Solution

+ cot 1 dx

3
85./ [tan_l w T
-1 132 +1 2132 +1

o Watch Video Solution

86. /cot 1 zdx

o Watch Video Solution

-2
dz 1 3
. 991 BdT: = —log -
87 /_3 21 2873

o Watch Video Solution



https://dl.doubtnut.com/l/_epLuLANg2u96
https://dl.doubtnut.com/l/_VsnPX1joO1w7
https://dl.doubtnut.com/l/_TZHOaep3Prke
https://dl.doubtnut.com/l/_DDuipS3KLDPB

3 8
88. 919 B / " cos® zdz = —
; 15

° Watch Video Solution

2 9
1
sg.asnctw:/ x—ze’”%dx:e% e
1 T

o Watch Video Solution

QO.Q‘SITCTW:/ rcoszdr = — 2
0

o Watch Video Solution

1 -1
91.asncrw:/2 zsin w1y ™
0 V11— z2 2 24/3

o Watch Video Solution



https://dl.doubtnut.com/l/_g7NOQ7hyxMSO
https://dl.doubtnut.com/l/_OIBMXfQ4jVM4
https://dl.doubtnut.com/l/_lcW8sYNH0osj
https://dl.doubtnut.com/l/_bJH0Q9k4kWX9

gzamcrzm'r-zl L erde — e £ —1
. /; x—wze $—6(2—)

° Watch Video Solution

93. aaq

1 a2 2
/ " sinf cos 0(@2 sin® 0 + b? cos? 0) la”+ab+0"
0

3 a-+b

1
2

do =

° Watch Video Solution

1
94, Ji4 AT Bt : / zdy 99 @H y = sinz
-1

o Watch Video Solution

QS.HTF[ﬁ‘f,ZTEISTZIT:/ ’ yldz QT @@y = sinz
0

° Watch Video Solution



https://dl.doubtnut.com/l/_eLC5Zn6aG0KG
https://dl.doubtnut.com/l/_184Cd4qHdYSo
https://dl.doubtnut.com/l/_fOWN19JLZ493
https://dl.doubtnut.com/l/_UHrsfDUYQiKA
https://dl.doubtnut.com/l/_1xxxbEIxEYWJ

96.zrmﬁCf§raﬂ.'<n:/ 2?ydz-93 @ 22 + 2 = a? aRy > 0

° Watch Video Solution

97.8Wﬁcf§f$@T:/ y?dz-93 @UHz = acos§ 92 y = bsinb
0

o Watch Video Solution

1
98. I f<fy BTt : / axydz-99 AYIH £ = cos 2y

° Watch Video Solution

2
gg.mﬁff.zrw:/ azydz -99 @Az? — y? = a2 Ry > 0
a

° Watch Video Solution

2
100. T fAg FEt - / 3x%dx
0



https://dl.doubtnut.com/l/_1xxxbEIxEYWJ
https://dl.doubtnut.com/l/_SJiMm0YiNYPA
https://dl.doubtnut.com/l/_FmHPdRTRGYwy
https://dl.doubtnut.com/l/_LBnfowIuPtSM
https://dl.doubtnut.com/l/_NOW52i9PBKzS

I o Watch Video Solution

3
101. T Ay Pt / z2dz
2

o Watch Video Solution

4
102. T17 fAdfg @t / 3x2dz
1

o Watch Video Solution

2
103.8'Hﬁ‘f§[$(.‘<ﬂ:/ (23@ + mz)dac
0

o Watch Video Solution

2
104. F1A Ay F@t : / (m2 + z)dx
0

o Watch Video Solution



https://dl.doubtnut.com/l/_NOW52i9PBKzS
https://dl.doubtnut.com/l/_bMwOMXvs8oA7
https://dl.doubtnut.com/l/_7I46GzL89Dvq
https://dl.doubtnut.com/l/_wIZmEAoVVyEF
https://dl.doubtnut.com/l/_Wq0RJPB24CTi

1
105. F1F fASg Bt : / zidz
0

o Watch Video Solution

1
106. I fAdg Bt : / 2¢%dx
0

o Watch Video Solution

1
107.mﬁcf,srm:/ e %dx
0

° Watch Video Solution

b
108. J1F fASg Bt : / edzx

o Watch Video Solution



https://dl.doubtnut.com/l/_te6gPetqCbk4
https://dl.doubtnut.com/l/_YXTzXowSo0Ga
https://dl.doubtnut.com/l/_C52UjplfrcRK
https://dl.doubtnut.com/l/_F88CI017vWrw

3
109. F1F fASg Bt : / X dx
2

o Watch Video Solution

2x + 3
4

dzx

1
11o.srmﬁr<f.zrw:/
-1

° Watch Video Solution

3
M. F17 A7 Pt : / (222 + 3z + 5)dz
0

° Watch Video Solution

b
112. 17 Aoy St : / z2dx

o Watch Video Solution



https://dl.doubtnut.com/l/_CmchfFCCUUgF
https://dl.doubtnut.com/l/_Q5PHOdq3hjJZ
https://dl.doubtnut.com/l/_DRwaY6d89QbA
https://dl.doubtnut.com/l/_PPujtrdHbsfy

1
113. 31 fAfg It / 3%dz
0

o Watch Video Solution

2
114. 17 A7 @t : / 4dx
1

° Watch Video Solution

2
115. / z2dz fAfg @t
2

° Watch Video Solution

dx

1165¥I'WWT/
V(@ —2)(z —3)

= (21og)

3+2V2

2+ /3

° Watch Video Solution



https://dl.doubtnut.com/l/_6NfCQ4n8xjEx
https://dl.doubtnut.com/l/_Gk82wk2IekII
https://dl.doubtnut.com/l/_Q2EdDAlUihEk
https://dl.doubtnut.com/l/_ncMva6eD5gjJ

5
9
117.am:rw/ \/(m —2)(5 - z)dz = —
9 8
° Watch Video Solution
15 1 5
118, 917 STl / dz — _log~
(x—3)yz+1 2 3

o Watch Video Solution

i 1
119.5&17{5@1/ de = anlz(a>o,b>0)

a2cos?z + b2sin’ x ab

° Watch Video Solution

T

120. EI‘JHZIT(?IT/ =
2+ cosz 33

° Watch Video Solution



https://dl.doubtnut.com/l/_iYHGkKqPcZ4N
https://dl.doubtnut.com/l/_OMffc46aiS0l
https://dl.doubtnut.com/l/_MLKTvUqC1bbn
https://dl.doubtnut.com/l/_DT2jtNfagLpD

dzx
Vbér —x2 -5

3
121.8HWWT/

.o
6

° Watch Video Solution

2a
122. 2ax — ridz
0

o Watch Video Solution

1
123. ERTHEI‘TRIT/ _dr !
2 +4x +5 7

o Watch Video Solution

dzx

2
124.8WEF(ZIT/ = log 3
Vit —2

o Watch Video Solution



https://dl.doubtnut.com/l/_5UMPbT7oFWLx
https://dl.doubtnut.com/l/_n44kgCUmqnOy
https://dl.doubtnut.com/l/_yKctLqAJY7xl
https://dl.doubtnut.com/l/_v4Ua0L5RoOpR

2
€ 1 d
125.asn=rzﬁc?n/ BT Z(2 - 3)
e (14 logz)
o Watch Video Solution
x ) 1 8
126. 917 Il / ’ SN der = —log —
o (2—cosz)(3+ cosz) 5 °3
° Watch Video Solution
3 d 1. 32
127. 981 St / ’ _ co5xaz __ Zlog =2
o (1+sinz)(2+sinz)(3 +sinz) 2 27

° Watch Video Solution

1

i 3
1zs.asrmw/4 (d—x — log —
9

1 1_13)\/5 2

o Watch Video Solution



https://dl.doubtnut.com/l/_z6a5MGhNEfjZ
https://dl.doubtnut.com/l/_eeFsHiUiDTP5
https://dl.doubtnut.com/l/_q1LJUyNVdXMQ
https://dl.doubtnut.com/l/_IxfJ2HZ1Ze0v

1. 15
129, 9 T / dz = Zlog —

(z —2)vz +2 2 7

o Watch Video Solution

1
130. asmrarczrr/ _dr L
4+ 5cosx 3

° Watch Video Solution

3 1 3+4/5
131.531?25@1/ de 1 (3 V5
o 2cosz +4sinz NG 2
o Watch Video Solution
2 —
132, asrmw/ _ 9 a2 gan 1, )20
a+bcosz a2 — b2 a+b

° Watch Video Solution



https://dl.doubtnut.com/l/_gM2kfizTQsEG
https://dl.doubtnut.com/l/_3cNxh683TMVK
https://dl.doubtnut.com/l/_ZhGMUrqYsKgy
https://dl.doubtnut.com/l/_pzc7ADK4d45t

! 1— 22 T™—2
133.881?25(2”/&: dx =
0 1—|—$2 4

° Watch Video Solution

b
lo 1 b
134, 9913 &I / 5% de = 5 log(ab)log —

o Watch Video Solution

135.8‘8!'17~[3‘>_@T/2 sin 2z tan~ !(sinz)dz = g -1
0

o Watch Video Solution

T—3
16

136.8WWT/4xcosmcos3mda: =
0

o Watch Video Solution



https://dl.doubtnut.com/l/_tcvW4lme2Sph
https://dl.doubtnut.com/l/_9sMtdOp0lSth
https://dl.doubtnut.com/l/_dutNTUi7bBYo
https://dl.doubtnut.com/l/_G5F0V8Mv0WFN

a+t
137. f(z) 936 JTIE WETHD 932 97 MY ¢, SIT HEt (Er,/ f(z)dz-

a9 FIH - fAqES |

° Watch Video Solution

0
d
138.y = / (t — 1)(t — 2)’dt- AA,2-97 @R FAL SAT % = 0,01 Ay

I |

° Watch Video Solution

y z d
139./ etdt + / cos t2dt = 03 WYt (Ef,eyﬁ +cosz: =0
0 0

° Watch Video Solution

9 9 9 9
140,97 g o@r: lim 2 t3 +.dm

n— oo nl10

° Watch Video Solution



https://dl.doubtnut.com/l/_61jAB0ZLTGjZ
https://dl.doubtnut.com/l/_uvo6Ok7EaVUs
https://dl.doubtnut.com/l/_NQQS1m2IjXoo
https://dl.doubtnut.com/l/_aA70PCKlviDP

. , 1 1 1 1
141.Wﬁ’q§fw:}llinoo — + — + g + .+ —

° Watch Video Solution

1
- - tot —

142. A A F@r: lim | — S :
oo (n+1) (n+2) 8n

n— oo

n? n? 1 ]

° Watch Video Solution

n n n

143. T AT d@: lim o —
n— 00 n2+12 n2_|_22 TL2+’I’L2

° Watch Video Solution

144. T fadg @t
) 12 22 32 1

lim + + + ...+ —

n— 0o ’I’L3 + 13 ’I’L3 + 23 ’I’L3 + 33 n

° Watch Video Solution



https://dl.doubtnut.com/l/_0ZYXun9GGKoP
https://dl.doubtnut.com/l/_DHxfo7gWqMOJ
https://dl.doubtnut.com/l/_IcufC5eCsOQW
https://dl.doubtnut.com/l/_ODrK8FJEOdjZ
https://dl.doubtnut.com/l/_2bLTOR14WYOq

, 1 2 3 1
5. A AR TE: lim | — nt nt -
n— 00 n2+12 n2+22 n2+32 n
° Watch Video Solution
, 1 2... +2
P R N T AL A A e
n— oo /,n3
o Watch Video Solution
147. i) fadfa It
li 1
1m
n— oo /nz . 12 / o 22 / \/n2 n _ 1

° Watch Video Solution

148. A fadfy It
2
: 1 Vn2—1*  /n2-2? \/n2 —(n-1)
lim — + 5 + > + ...+ >
n— 0o n n n n

| o WMl L\ dana C Al iklmn



https://dl.doubtnut.com/l/_2bLTOR14WYOq
https://dl.doubtnut.com/l/_QDIT6ECLD8rd
https://dl.doubtnut.com/l/_Wa23kgPunXRv
https://dl.doubtnut.com/l/_6NCDFbHTbYdB

L ¥yvdalilll VIUCV JViuLivii

. , 1 1 1 1
149. T fAfY Sl : lim + + +ot—

n— 00

° Watch Video Solution

1
1
150. (413 (EI,/ zlog(l t+z)dr=1- —+ — — — + ..
0

° Watch Video Solution

1

1
151.En7«'ﬁ<f§r$(.‘<n‘:/ —dax
0o 2+ 2x+5

° Watch Video Solution

b
152.a < ¢ < b?(a,/ f(z)dz =

A./acf(x)dw —l—/bcf(m)da:


https://dl.doubtnut.com/l/_6NCDFbHTbYdB
https://dl.doubtnut.com/l/_Z5BcJG4tBCXR
https://dl.doubtnut.com/l/_5O3S8x2cAIuo
https://dl.doubtnut.com/l/_v3Mc2z93W9zg
https://dl.doubtnut.com/l/_KCRnvjocx5Tc

B./acf(a:)dw - /cbf(m)dzc

C./acf(a:)d:c +/cbf(:c)da:

D./caf(m)dac - /bcf(x)dm

Answer: C

° Watch Video Solution

153. f(2a — z) = f(z) 5(0_'1',/0 af(w)dm =

: d
A 2/0 f(z)dz
B.0
C./a f(z)dz
D.1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_KCRnvjocx5Tc
https://dl.doubtnut.com/l/_yQhU5gWpD6UD
https://dl.doubtnut.com/l/_42MzfbY2QwHm

m

154./2 cos(z)dz =

2

A2
B.1

C.0

Answer: A

° Watch Video Solution

155./mf(m)dac = n/af(:r)dm (€, IM-
0 0


https://dl.doubtnut.com/l/_42MzfbY2QwHm
https://dl.doubtnut.com/l/_qOBJiLUUS41V

Answer: D

° Watch Video Solution

156. / sin’ 0d# -ad F1A-

A0

B.1

Answer: C

° Watch Video Solution

157. 90 f(z) 936 YU AEFHD 27, O /a f(z)dx =

A0


https://dl.doubtnut.com/l/_qOBJiLUUS41V
https://dl.doubtnut.com/l/_hW2sXLctX61O
https://dl.doubtnut.com/l/_b3g4YJGKDbmE

B./O f(z)dz
: d
C 2/0 f(z)dz
D. ATd (PIAMBE AT

Answer: C

° Watch Video Solution

158./af(33)dx =

0
A./af(a—:c)dw
0
: —a)d
B/0 flz —a)dz
2a

C. f(2a + z)dx

0
D. /Oaf(2a —x)dzx

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_b3g4YJGKDbmE
https://dl.doubtnut.com/l/_R0ymBofaaV4J
https://dl.doubtnut.com/l/_rafC78oU0VaM

2a
159. f(2a — 7) = — f(x) 2T ORITS czr,/ f(z)dz = 0
0

o Watch Video Solution

160. f(z) M 2 -99 9BTB GIYN WEFSD 27, ©@ MAT3 (Zr,/ f(z)dx = 0I

° Watch Video Solution

1
161.srmﬁ<f§r§rm:/ |z|dx
-1

o Watch Video Solution

162. ¥R fAfar @t: [ |sinz|dz

s
-2

° Watch Video Solution



https://dl.doubtnut.com/l/_rafC78oU0VaM
https://dl.doubtnut.com/l/_Zedx336DzN3J
https://dl.doubtnut.com/l/_cKbObjnrriAg
https://dl.doubtnut.com/l/_rtVfcj3oTpYj

3
163. F1~ A7 St : / |z — 2|dzx
1

° Watch Video Solution

164. 814 Bl (EI,/ f(sinz)dz = 2/2 f(sinz)dzx|
0 0

° Watch Video Solution

165. CFMITG(EI/ z f(sinz)d :—/ f(sinz)dx|

° Watch Video Solution

b kb
166. (MUT3 :/ flkz)dx = %/k f(z)dz

° Watch Video Solution



https://dl.doubtnut.com/l/_r4rCHgp9XmV4
https://dl.doubtnut.com/l/_0qzfeQzZ2JBB
https://dl.doubtnut.com/l/_8dH2HWOwjGTv
https://dl.doubtnut.com/l/_aiQnHoO05FA7

167. ('712”6:/2 sinz f(sin2z)dx = /2 cos z f(sin 2z)dz
0 0

° Watch Video Solution

b b
168. (1413 (EI,/ fla+b—z)dz = / f(z)dx

° Watch Video Solution

169.8?”?25(?”:/ cos’ zdz = 0
0

° Watch Video Solution

87 T
170. 9914 Pl : / sin® zdz = 8/ sin® zdz
0 0

° Watch Video Solution



https://dl.doubtnut.com/l/_l4scBJcwoit7
https://dl.doubtnut.com/l/_OlvGAXwFnquz
https://dl.doubtnut.com/l/_fkgXqY031dwt
https://dl.doubtnut.com/l/_GANIlI08C8xR

4

171HHHW/ der =0

1+ x2

° Watch Video Solution

™
172. 9917 Il : / sin® z cos” zdxz = 0
0

° Watch Video Solution

173. 9917 Il : / sin’ zdz = 0
3

o Watch Video Solution

46
sin d0 _0

174. 914 Sl /

o Watch Video Solution



https://dl.doubtnut.com/l/_7flUsPpPKVAm
https://dl.doubtnut.com/l/_7TFmEGDgGApZ
https://dl.doubtnut.com/l/_2mplfD2ftNcj
https://dl.doubtnut.com/l/_g5Vl8ZzxMmIe

175. 9814 @l : / : log(tanz)dz = 0
0

° Watch Video Solution

176. 914 Sl : / sin? —cos Edm =0

o Watch Video Solution

177.881?[37@T:/ :c\/a2 — 2%dz =0

° Watch Video Solution

1
178.am=rw:/ sin !
-1

o Watch Video Solution



https://dl.doubtnut.com/l/_OYKqAq31hYaH
https://dl.doubtnut.com/l/_THulA0vSq38d
https://dl.doubtnut.com/l/_jYzMGecI1c1G
https://dl.doubtnut.com/l/_ZmPqOsycNslK

179. / sin® zdz-a9 FIF AT St

s
2

° Watch Video Solution

T L
2

180. G4 I , / cos® xdx = 2/ ’ cos® zdz
- 0

s
2

-93 A fAfg Il

:W"I.’d’,/

2

ks
2

cos® zdz

° Watch Video Solution

sinx

sinz + cosx

181.Wﬁ‘f§f?ﬁ@T:/2
0

° Watch Video Solution

v/sinxdz

sinz + y/cosx

) 3
182.mr¢ﬁrcr.zrm:/
0 4

° Watch Video Solution



https://dl.doubtnut.com/l/_aDFFWR8Du3RT
https://dl.doubtnut.com/l/_GYyLvtguXZFj
https://dl.doubtnut.com/l/_PJtHsyXDEVZM
https://dl.doubtnut.com/l/_2af2jyLLMypm
https://dl.doubtnut.com/l/_8UHlxoT67cf4

183. J1F A7 Bt : / x cos’ zdz
0

o Watch Video Solution

184. T fAdg Bt : / _
1—|—smx

° Watch Video Solution

185.srrarﬁ<fzrm:/§ cosz —sinz
0

1+ sinxzcoszx

o Watch Video Solution

v/ cot zdx

otz + /tanz

186.8Wﬁ°f§fm:/2
Ve

° Watch Video Solution

187.‘6!1?{ﬁ°f§rw:/2 (acosQ:c + bsin? x)da:
0


https://dl.doubtnut.com/l/_8UHlxoT67cf4
https://dl.doubtnut.com/l/_3eCLp34VBAX9
https://dl.doubtnut.com/l/_bGBOPj43GDaz
https://dl.doubtnut.com/l/_anXAS6jHgdh4
https://dl.doubtnut.com/l/_iASuDeTllLEe

° Watch Video Solution

s . 3
1ss.mzrﬁcf§rw;/2 S0 g
sin® 0 + cos3 0

° Watch Video Solution

189, T fAfy Tt - / _dz
1+ cotz
o Watch Video Solution
eCOS :1,'(ia3

190.srmﬁr°f.zrw:/
0

6COS:L' + e—COS.’E

o Watch Video Solution

s1n2 rdx

191. 17 AT St : /

smz T + COSz x

° Watch Video Solution



https://dl.doubtnut.com/l/_iASuDeTllLEe
https://dl.doubtnut.com/l/_Tyr8OFcHKPU7
https://dl.doubtnut.com/l/_yLF1EgMWheG9
https://dl.doubtnut.com/l/_F6XeF5lvGMOi
https://dl.doubtnut.com/l/_4iddDElCluW4

sin® zdx

192.mﬁ°fam:/2
0

sin*z + costzx

° Watch Video Solution

1
193.('712”3:/ z|z|de =0

-1

o Watch Video Solution

2
194. W18 :/ '1 — a:2|dm =4
—9

° Watch Video Solution

zdx

195. 81 @l /
0

a?cos? z + b?sin

T

° Watch Video Solution



https://dl.doubtnut.com/l/_4iddDElCluW4
https://dl.doubtnut.com/l/_i3XsQKvu7Zu9
https://dl.doubtnut.com/l/_nkFvRSnd1Ave
https://dl.doubtnut.com/l/_DGGLm3hm5cs8
https://dl.doubtnut.com/l/_Ll8jKIBrdzfj

rsinx T

196.8‘HHZI‘>‘(ZT:/ —dr = —
1+ cos?z 4

° Watch Video Solution

zdr

197. 917 BET: = " _log(vZ + 1)
sinz + cosxz 22 8 *

° Watch Video Solution

™
198. 941 H{l: / zsinz cos® zdz =
0

w| 3

° Watch Video Solution

3 cos2é
199, 9917 I l: G — [ l
/ sinf + cos 0 V2 Og(\/_—'_ )

° Watch Video Solution



https://dl.doubtnut.com/l/_RCQWLP6NFvv3
https://dl.doubtnut.com/l/_ixnJuSHSjux5
https://dl.doubtnut.com/l/_9Wc3LypvIcAE
https://dl.doubtnut.com/l/_a0QQFKSDerch

200. g1 Pt / " sin 2z log(tanz)dz = 0
0

° Watch Video Solution

201.am:{asm/ ztanzdz :%(w—z)
0

tanx + secx

o Watch Video Solution

3 sin x cos zdzx
202. 5
0 (a2 cos? z + b2 sin? a:)

° Watch Video Solution

a dzx B
0 =+ +va?— x2

203. 914 I :

s
4

° Watch Video Solution



https://dl.doubtnut.com/l/_LwEkqpJEn4BL
https://dl.doubtnut.com/l/_7H9HUfmX9JzU
https://dl.doubtnut.com/l/_zYWJ8ImPQIVH
https://dl.doubtnut.com/l/_UaLmpuJg9091

1.5
ZM.HHHW:/ [2%]dz =2 — /2
0

° Watch Video Solution

m () B
205.881?[25(?”./0 f(a:)—|—f(2a—m)dm_

o Watch Video Solution

f(z)dz _b-a

b
ZOG.QHWWT:/(L @ T flatb—2) =

o Watch Video Solution

! 11—z
207. 991~ P log de =0
0

T

° Watch Video Solution



https://dl.doubtnut.com/l/_pfhWTNM1DKpw
https://dl.doubtnut.com/l/_PnS5fVahXU8U
https://dl.doubtnut.com/l/_ICK7irM0HJg8
https://dl.doubtnut.com/l/_6k6vqkYQV57j

2 \/5
208.5WW:/ dx =
1 VT ++3—=x

° Watch Video Solution

.’E s

209. 91 BET: =33
z 1+\/—

° Watch Video Solution

21o.asmw;/ iy
sV atx

° Watch Video Solution

2 164/2
z11.ersrmm:/ 22 — zdr = 1—*5/
0

° Watch Video Solution



https://dl.doubtnut.com/l/_ibw0hC3Px3V1
https://dl.doubtnut.com/l/_B5uXp2enXvGB
https://dl.doubtnut.com/l/_ZI2qUVTFNIBf
https://dl.doubtnut.com/l/_u5sOS27ybHMf

z sin®" zdz

z1zam=rw/ =72 @En > 0

sin?® x + cos?" z

o Watch Video Solution

™

213.mmz/zlog(sinx)d:c = /210g(cosac)d:c
0 0

o Watch Video Solution

214 /4 dz
"Js xlog(a?)

° Watch Video Solution

215. 93 fJeivle Tadnfadd 6@ adifas

1 dzx
2 2
0 acos’z + bsin“x

1
" ab
1 (b
B.—tan ' — ) ¥Ma < 0,b <027
ab a

g fdal


https://dl.doubtnut.com/l/_DPCet8cr8oXd
https://dl.doubtnut.com/l/_peqzblRbXTSa
https://dl.doubtnut.com/l/_85zZvmXo71WG
https://dl.doubtnut.com/l/_XZ3WLlbRhmFS

C.%ﬂ'ﬁiazo,bzﬂﬁﬂ

D. Ad (BIHIB2 AT

Answer: A::B::C

° Watch Video Solution

1 2
216./ 2z + 3z + 3
0o (z+1)(z?+ 2z + 2)

T -1
A.Z+2log2—tan 2
B. 'pi/4+2log2-tan”-13

C.log4 —cot '3

T 1
D.—Z+10g4—cot 2
Answer: A::C::D

o Watch Video Solution



https://dl.doubtnut.com/l/_XZ3WLlbRhmFS
https://dl.doubtnut.com/l/_a504NdSi5pR8

217. 93 el Sadsfad Gva@  adifds g el Im

g9(z) = / cos 4tdt W OW g(x + ) -99 I -
0

g(m

~—

B.g(z) + g()
C.g(z) — g(m)

D. g(z)g(r)

Answer: B::C

o Watch Video Solution

218. 93 fJeivle Tadnfds @@ adifss  f[eg vl

lim

+—t ——+...
n— 0o vn2 \/ng 12 \/"’LQ _ 92 \/'n,2 B (’n, B 1)2

a3 17 2<-



https://dl.doubtnut.com/l/_92fcDrkGZPv2
https://dl.doubtnut.com/l/_v9VPIRFr7Wf0

B.sin~!(1)
C.cos 1(0)

D.2tan"*(1)

Answer: A::B::C::D

° Watch Video Solution

219. 93 fISIIT Taa3feT 9T WIFAEE JHRYT (0 (V@ 9-99 Y) 2@ M

/ﬁ“ 4+ 22 12

5 de = K?Y 0 K -9 J4 2<-
vz-1 (224 1)

° Watch Video Solution

220. a3 ST Taasfel 9 T[T FATRYT (0 (U 9-97 F(EF) 2@ M

3
A:/ x(3—x)§da:§§rmﬂ-aamﬁm-
0

27/3

° Watch Video Solution



https://dl.doubtnut.com/l/_v9VPIRFr7Wf0
https://dl.doubtnut.com/l/_P1O6misLfArn
https://dl.doubtnut.com/l/_fPrGnZUGeyxM
https://dl.doubtnut.com/l/_K5c786embHDh

8w
221./ sin® zdx = 8int_0"(pi) sin”6 xdx
0

° Watch Video Solution

222. 93 fJSIIT Taanfel 9P WHAXIE GBIRUTT (0 (AP 9-99 1Y) 2w M

! 5\ 7 55 ( I
Ii=[ (1-2°) de®@WOW@ — | — | -99 T -
0 8 I11

° Watch Video Solution

{1—:1: 0<x<1 3
223, 53 BT, f(z) = d 0 1<z<2 3,86(21’6/ f(2)da-
(2-2)2 2<z<3 0
99 T 7@-

° Watch Video Solution

224, I I@ f(z) = sin*z — cos*z R g(z) =1 — 2sin*z cos’ z

/0 * fa)da =


https://dl.doubtnut.com/l/_K5c786embHDh
https://dl.doubtnut.com/l/_R4JCWCP98buZ
https://dl.doubtnut.com/l/_DD5JXi7zqRfA
https://dl.doubtnut.com/l/_aGX8vVT62AY5

Answer: C

o Watch Video Solution

225. ¥ I f(z) = sin*z — cos*z AR g(z) = 1 — 2sin*z cos’

3z cos 4z

A'T — 16 C
B 3z n sin4x
"2 "1 7€
3z sin4x
C.— —
4 16
b 3z n sin4dzx
4 8



https://dl.doubtnut.com/l/_aGX8vVT62AY5
https://dl.doubtnut.com/l/_GQ4GcaPVQCK1

| ° Watch Video Solution

226. I I@ f(x) = sin*z — cos*z R g(z) =1 — 2sin*z cos’ z

/%
0

Aoy
g() dr =

1
c.—1 241
% og(v2 +1)
1
D. Elog(\/ﬁ — 1)
Answer: A

° Watch Video Solution

227. |94l -99 A J2aF JORAT @IHTY, I 2-99 JIAI (AP J2ad 77|

/ [cos z|dz-99 ¥ -
0

Al


https://dl.doubtnut.com/l/_GQ4GcaPVQCK1
https://dl.doubtnut.com/l/_MvoMrYd58rJw
https://dl.doubtnut.com/l/_27tMWkzk657K

Answer: C

o Watch Video Solution

2 . 3
228. / sin’ xdx
0

o Watch Video Solution

2a
zzg.aawm:/ i fz) dz = a
0

z) + f(2a — z)

° Watch Video Solution



https://dl.doubtnut.com/l/_27tMWkzk657K
https://dl.doubtnut.com/l/_tLPXwFI9DU4w
https://dl.doubtnut.com/l/_MOfIIpREBdeJ

230. dfoft et [Pfo-1 932 [QYFo-2 msAt @itz dfoft aww QYo 7o o

@I [T@gHw (A, B, C 8 D-93 1Y) NODeIQ ILTT Hd?
ﬁ@’r_l/ sin :L'da:—/%cos zdz,n € N
ﬁqr—z/ f(z)dz _/ f(a - z)da
A. [qfo-1 75| fqfo-2 51fdd aar fiqoe-2, fgfo-1 a sifde S|
B. f[qf6-1 515w | faqfe-2 15 ade f[age-2, f[Agfe-1 g 5B BiaT 4|
C. fagfo-1 515 adr fgfo-2 51f5d A7

D. fqfo-1 515 A7 93 faqgfe-2 7fd|

Answer: A

o Watch Video Solution

231./ x cos? zdzx
0

o Watch Video Solution



https://dl.doubtnut.com/l/_BBewplIC55h2
https://dl.doubtnut.com/l/_fFv25gWd9RyE

